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lll Semester B.B.M./B.H.M. Examination, November/Decefnber 201 3

(Semester Scheme) (F+R) (2010-1 1 and Onwdids)
HINDI LANGUAGE - III

Hindi Ekanki, Sarkari Patra Aur Sankshepan

Time : 3 Hours Max. Marks : 90/100

lnstructions : 1) Vl Question is compulsory for 2012-13 batch.
2) 100 marks for Fresh students of 2012-13 batch onwards.
3) 90 marks for Repeater students prior 2012-13.

r ffifuay{qi*&r{gdr{rqzrrqrfliifrfuq: (10x1=10)
. 

1) fiq=u fr trifr qT qrq wr t ?

z) gp16 ffi S{il} .r{ €t{ R}-€-dr qErT rrq-r ?

s) Krq fi g.+r qt{ t ?

4) frsq-qT fu-n Et-*-i ft* fuS ftRs-fr t ?

E) Am{Hrq ftreft it fus qkdr-dq;i ffi 6{ w efi ?

G) elra{ * wgeri ftlst +nr mrorfi-* EtA t ?

7)'r1q61 qt frq' qsifr ii qi+ ffi at t ?

8) *t t q*-o ffi i q-dq * ug + qi-{-tft em q-r* ar$ ?

e) €rtq CFH sT-A-q fr snr t ?

10) 'qs-q6' t rmifi-*ir q+{ t ?

;1. ffifu6 fi t f6"-ff ?fr{ 3{-dd{utifr Hq.{i'r qrcq-r frftq : (319=24)

1) qifrqqmq{gsfrffi=fusiEqr+S gil{ 
r

2) gqfr sti q-fr cfr( vm'ilr r +nfui gq t erii sEi t {M E} ?

3) ftlvr n) u+gr, q{ {6 6qrt fus qncro ql 
I

4) Tf,A s{irT qr$il, fr fu{ft s} $ F{ r6's + qrt fi qqq, q eTrr} qt'ft ?

s) 6un $ qrq.m rS, E n) fro or qh t r

P.T.O.
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(2x15=30)

1) 'wrre' gmm fi frkd qciq-qffiiq{ +Trmtffr fi&q t

2) '66{ *d'r$' q6ifr ii spfnim fr BTf}rqft fus v*-n gf t ? *qe *frq r

g) 'trrtq' qsifr ii&rkd srlftHhd fr-fl er{T q.I frsfrqtTfifrq i

;ry. qfuq, ril;H sqTE1q .3i{ k6.rs ri*-f,.+, r{Ks {r|*-R, ;d fud fi sft t qfuq, ftHI
qfu-dr-rrq 6-dzffi e,.{q6"R, ;Hq6 ql qilqFq q-rfl-S qe ftfuq fut 2013-20i 4 q{

{SftTHT G{i}mH mr eqmha q-q ffT fr{i-T q-irTl ,tqT * | t6

STIIrcTt

{fuq, H, riTrf,"E, qr{d srfiR fr BTk * w 3TBrr[qqT tqR SrRq, Mt ;t'I-qF

qf* te qftst-fl{T * eaat aulq-+ * q< .r{ * q-{fra qi fuEa ftnqi 'r+l * t

y. ftqfufun qr gkd yftSfi tt gqs ffi yr.Etit {if}r!frsr'Tfieq : 10

frrm q-{Er si qRq afr{ yrft ql sfud nq},T slliT fr{el,al t t qo ftrm 6 qg6q q}
qrenr grdEii t xrq + eTkked Ss.i,*{ kdq q t, qef t t qfr Eqrt ftren E{ir6-d,
{W, q-qfta qq 3ffi qrrrks rS q-n'T 11-q;-* n} g1IS w1 ETTIT ? v6<q van vtg
elqqq q-s{ Bq Hkil* t q-$ 3r@r t, nfr fi-{q sfu qfir$-{ t t risT{ + Hr* tvq q

Eu-qrr{ rft rrgq m.} n-q ir* gd {S q-{rt, q6i mF'EBq E} 3Tfrs {Fr q E} i r+rt
gru e{Yon q srr<rEq ,fr t t fu,f.&Tf, qtrd m} ruiqrHt qi rfr saqT S e?n;T {€qr
qTftq kil{r fr erftrodlql I

Note : Gompulsory question tor2012-13 and Onwards batch.

{1l;r{r : 2a12-1s arn * ffi?Hit frq erft"qrd s{q

vt. ffigfiqlqftr-fudqfrftq:
ty utc-{n r

z) glpfr r


